
ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 
49/24-A, MINTO ROAD, PRAYAGRAJ. 

      SESSION JULY – DECEMBER 2023  

ASPEUS CORRESPONDENCE COURSE - SEM – 3 (ADAHS-I) 

   BASICS OF HUMAN BODY (BHB-3) 

TIME – 1.30 HRS        MAX MARKS-100 

      (ONLINE EXAM) 

               (Objective Questions) 

            ( ) 

Attempt each questions:      50x2=100 

(1)   Total number of Cranial nerves - 
(a)  5 pairs    (b) 8 pairs   
(c)  12 pairs    (d) None 

(a)  5     (b) 8    
(c) 12    (d)  
 

(2)   The lymphatic system consists of - 
(a)  Arteries    (b) Veins   
(c) Lymph vessels   (d) All 

  
(a)     (b)  
(c)    (d) 

(3)  Total number of Lumbar vertebrae is - 
(a)  9     (b) 5    
(c)  2     (d) None 

vertebra   
(a) 9    (b) 5   
(c)  2     (d)  
 

(4)  Bones present in Fore arm is - 
(a)  Radial    (b) Ulna   
(c) Both     (d) None 
Fore arm   
(a)      (b)  
(c)    (d) 



(5)   Ven Den Bergh reaction is related to - 
(a)  Jaundice    (b) Typhoid    
(c) Filaria    (d) None 

 
(a)     (b) 
(c)     (d) 

(6)   TFT test is related to - 
(a) Kidney    (b) Thyroid   
(c) Both     (d) None 
TFT test   
(a)  (b)  

(c) (d) 
 

(7) The sputum of a person may be Hemorrhagic in case of - 
(a)  Tuberculosis   (b) Diabetes  
(c) Arthritis     (d) None  

   
(a)       (b)   

(c)    (d)    

(8) Lymphocytosis occur in these diseases - 
(a)  Infective hepatitis  (b) Pertussis    
(c) Both     (d) None 

 
(a)  (b)     
(c) (d)  
 

(9)   Hyoid bone is present in - 
(a)  Legs      (b) Throat 
(c) Chest    (d) None  
Hyoid  
(a)       (b)  
(c)     (d) 

(10) Medulla is the part of - 
(a)  Brain     (b) Heart   
(c) Spinal cord   (d) None  

 
(a)     (b)    
(c) (d) 
 



(11) Muscles which are under our control - 
(a)  Voluntary    (b) Involuntary     
(c) Cardiac     (d) All  

 
(a)      (b)       
(c)    (d)  
 

(12) Cranial nerves originate from - 
(a)  Spinal cord   (b) Brain  
(c) Liver     (d) All 

 
(a)     (b)  
(c) (d) 
 

(13) Deglutition center is present in - 
(a)  Pons     (b) Mid brain     
(c) Medulla    (d) None  
Deglutition  
(a)       (b)    
(c) (d) 
 

(14) Limbic system is responsible for - 
(a) Nature    (b) Emotions    
(c) Behaviour     (d) All  

 
(a)    (b) 
(c)     (d) 

(15) Total number of spinal nerve - 
(a) 37 pairs    (b) 86 pairs   
(c) Both      (d) None 
Spinal nerves  
(a)  37     (b) 86    
(c)     (d)  
 

(16) Nerve deafness causes due to damage of - 
(a) Cochlear nerve   (b) Occipital nerve    

(c) Both      (d) None  
Nerve deafness  
(a)    (b)       
(c)    (d)  
 

 



(17) Olfactory bulb is related to - 
(a)  Ear     (b) Nose    
(c) Tongue    (d) None  

 
(a)     (b)     
(c)     (d)  

(18) Lymph nodes are part of - 
(a)  Lymphatic system  (b) Skeletal system  
(c) Nervous system   (d) All  

 
(a)    (b)   
(c)  (d) 
 

(19) Major locations of lymph nodes in body is – 
(a) Neck      (b) Axilla  
(c) Groin     (d) All  

  
(a)       (b) 
(c)   (d)  

 
(20) Ciliary muscles are present in - 

(a) Intestine     (b) Eyes   
(c) Heart    (d) None 

(a)     (b)   

(c)     (d)  
 

(21) Thalamus is made of – 
(a) Grey matter    (b) White matter  
(c) Pink matter    (d) None  

  
(a)      (b)     
(c)     (d) 
 

(22) Cerebellum is the part of - 
(a) Spine    (b) Brain  
(c) Liver     (d) None  

  
(a)     (b) 
(c)     (d) 



(23) Descending tracts are also known as - 
(a) Motor tracts    (b) Mixed tracts   
(c) Sensory tracts   (d) All  
Descending tracts  
(a)      (b)   
(c)  (d) 

 
(24) The structure and functional unit of a nervous system is - 

(a) Tissue    (b) Nephron    
(c) Neuron    (d) All 

 
(a)    (b)   
(c)    (d) 
 

(25) White part of eye is called as - 
(a) Sclera    (b) Lens   
(c) Retina    (d) None  

 
(a)     (b)    
(c)   (d)  
  

(26) Total number of bones in an adult man is- 
(a) 206     (b) 306  
(c) 400     (d) None  

 
(a)  206     (b) 306  
(c) 400   (d) 
 

(27) Segments of Vertebral column are - 
(a) Cervical    (b) Thoracic  
(c) Lumbar    (d) All  
Vertebral column  
(a)    (b)      
(c)   (d)  
 

(28) Metatarsals are present in - 
(a) Chest    (b) Foot    
(c) Lumbar    (d) All  
Metatarsals  
(a)   (b)     
(c)  (d) 



(29) Muscles have solid elements - 
(a) 25%     (b) 75%    
(c) 80%     (d) None  

 
(a) 25%     (b) 75%    
(c) 80%  (d)  

 
(30) _______is related to muscles contraction - 

(a) Isometric    (b) Isotonic  
(c) Both     (d) None  

contraction  
(a)    (b)  
(c)            (d) 
 

(31) Neurons have no power of - 
(a) Conduction   (b) Reproduction     
(c) Both     (d) None  

 
(a)    (b)      
(c)     (d)  
 

(32) Dendrites are part of - 
(a) Neuron    (b) Muscles  
(c) Bones    (d) All  

 
(a)     (b)  
(c) (d) 
 

(33) Chemo receptors are  - 
(a) External receptors  (b) Internal receptors     
(c) Both     (d) None  

 
(a)   (b)    
(c) (d) 

(34) Sympathetic nerves are - 
(a) Voluntary    (b) Involuntary    
(c) Both     (d) None  

 
(a)      (b) 
(c)    (d) 



(35) Vestibulo auditory nerves is - 
(a) Motor type    (b) Mixed type    
(c) Sensory type   (d) None  
Vestibulo auditory  
(a)    (b)   
(c)  (d) 
 

(36) Vagus nerve originates from - 
(a) Pons     (b) Medulla    
(c) Mid brain    (d) All  

 
(a)      (b)     
(c) (d)  
 

(37) Optic nerve is for  - 
(a) Smell    (b) Vision   
(c) Hearing    (d) All  

 
(a) (b)    
(c)  (d)  

(38) Spinal nerves which do not make plexus - 
(a)  Cervical    (b) Lumbar  
(c) Thoracic    (d) None  

plexus  
(a)     (b)   
(c) (d) 
 

(39) CSF is present in – 
(a) Brain     (b) Spinal cord  
(c) Both      (d) None  
CSF  
(a)     (b) 

(c)    (d)   
 
(40)  The cerebrum has - 

(a) Caudate nucleus  (b) Corona radiata   
(c) Corpus callosum   (d) All 

(a)    (b)    

(c)    (d)  
 



(41) Area Number ‘17’ of Cerebrum is responsible for – 
(a) Vision     (b) Hearing  
(c) Intelligence    (d) None  

 
(a)    (b)   
(c)    (d) 
 

(42) Ossicles of ear are - 
(a) Malleus    (b) Incus   
(c) Stapes    (d) All  

Ossicles  
(a)   (b) 
(c)      (d) 

(43) Perfect vision is - 
(a) Emmetropia   (b) Myopia   
(c) Hypermetropia    (d) All  

Perfect vision  
(a)   (b)   
(c)  (d) 

 
(44) Accommodation in eyes become very hard because - 

(a) Rigidity of ciliary ligaments (b) Less elasticity of lens    
(c) Both     (d) None 

Accommodation  
(a) (b)    
(c)               (d) 
 

(45) Full form of CRP - 
(a) C-Reactive Protein  (b) C-Ribosome Protein   
(c) C-Renin Plasma   (d) None  
CRP  
(a) C-Reactive Protein  (b) C-Ribosome Protein 
(c) C-Renin Plasma  (d)  
  

(46) Kidney related disease - 
(a) Glomerulonephritis  (b) Hydronephrosis  
(c) Renal failure   (d) All  

 
(a)   (b)  
(c)    (d) 
 



(47) Lymphopenia occurs in this - 
(a) Aplastic amenia   (b) AIDS  
(c) Both     (d) None  
Lymphopenia  
(a)   (b) AIDS  
(c)   (d)  
 

(48) High VLDL in blood is - 
(a) Good    (b) Excellent    
(c) Dangerous    (d) None  

VLDL  
(a)      (b)     
(c) (d) 

(49) Cholesterol will be low in - 
(a) Pernicious anemia  (b) Thyrotoxicosis  
(c) Both      (d) None  

  
(a)   (b)   

(c)    (d)  
 

(50) The longest bone of human body is - 
(a) Clavicle    (b) Humerus  
(c) Sternum    (d) None  

 
(a)      (b)  

(c)     (d)  

   ………..

 

 

 

 

   

 

 



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 
49/24-A, MINTO ROAD, PRAYAGRAJ. 

         SESSION JULY – DECEMBER 2023  

ASPEUS CORRESPONDENCE COURSE - SEM – 3(ADAHS-I) 

       CHINESE ACUPRESSURE (CA-3) 

TIME – 1.30 HRS       MAX MARKS-100 

      (ONLINE EXAM) 

     Objective Questions ( ) 

Attempt each questions:      50x2=100 

(1)   Nervous system will be treated by - 
(a)  N.D. Meridian   (b) Ly Meridian   
(c) SK Meridian   (d) None  

 
(a)  ND    (b) Ly    
(c) SK (d) 
 

(2)   Toothache will be treated by - 
(a)  Ly - 10    (b) Ly - 2   
(c) Ly – 11    (d) None 

  
(a) Ly - 10    (b) Ly - 2
(c)  Ly – 11    (d) 

(3)  Pain in legs will be treated by - 
(a)  ND - 3    (b) ND - 2   
(c) ND - 1    (d) None 

  
(a) ND – 3     (b) ND – 2   
(c)  ND – 1 (d) 
 

(4)  Treatment point for Sinusitis is - 
(a)  Ly - 8    (b) Ly - 10   
(c) Ly - 3    (d) None 

  
(a)  Ly - 8    (b) Ly - 10   
(c) Ly - 3    (d)  



(5)   Fibroma of Liver will be treated by - 
(a)  Fib D - 3    (b) Fib D - 2  
(c) Fib D - 1    (d) None 

  
(a)  Fib D - 3    (b) Fib D - 2  
(c) Fib D - 1  (d) 

(6)   Eczema on arm will be treated by - 
(a)  SK - 1     (b) SK - 2 
(c) SK - 3    (d) None 

 
(a) SK - 1     (b) SK - 2
(c)  SK - 3    (d) 
 

(7)   Lock Jaw will be treated by - 
(a)  JD - 3    (b) JD - 1   
(c) JD - 2    (d) None 
‘Lock Jaw’   
(a)  JD - 3    (b) JD - 1  
(c) JD - 2    (d)  

(8)   Total point of Fat D meridian is - 
(a) 19     (b) 4     
(c) 20     (d) None
Fat D   
(a)  19     (b) 4    
(c) 20     (d) 
 

(9) According to EAV total point of Heart meridian is - 
(a)  30     (b) 35   
(c) 17      (d) None  
EAV   
(a)  30     (b) 35   
(c) 17     (d)   

 
(10) Breast node will be treated by - 

(a)  Fib D - 2    (b) Fib D - 3   
(c) Fib D - 1    (d) None 

  
(a) Fib D - 2    (b) Fib D - 3 
(c) Fib D - 1    (d) 



(11) Treatment point of Asthma is - 
(a)  Lu - 2    (b) Lu - 11   
(c) Lu – 3    (d) None 

 
(a)  Lu - 2    (b) Lu - 11 
(c) Lu – 3     (d) 
 

(12) Treatment point for Whole Large Intestine is - 
(a)  Li – 6    (b) Li – 7   
(c) Li – 1b    (d) None  

 
(a)  Li – 6    (b) Li – 7  
(c) Li – 1b    (d)  

(13) Allergies and Vascular system will be treated by - 
(a)  AD Meridian   (b) SK Meridian   
(c) Fat Meridian   (d) None  

 
(a) AD    (b) SK    
(c) Fat (d) 
 

(14) SMP for arteries is - 
(a)  Ci – 1    (b) Ci - 2    
(c) Ci – 9    (d) None  

SMP
(a) Ci – 1    (b) Ci – 2   
(c) Ci – 9    (d) 
 

(15) Treatment point for Ovaries is - 
(a)  Tw - 8    (b) Tw – 1   
(c) Tw – 10    (d) None  

 
(a) Tw - 8    (b) Tw – 1 
(c) Tw – 10 (d) 
 

(16) Eye disease will be treated by - 
(a)  Ly – 2a    (b) Ly - 5 
(c) Ly – 6    (d) None  

 
(a)  Ly – 2a    (b) Ly – 5 
(c) Ly – 6 (d)  
 



 
 
 

(17) CMP for Endocrine system is - 
(a)  Tw - 10     (b) Tw – 1b  
(c) Tw - 9    (d) None  

CMP  
(a) Tw - 10     (b) Tw – 1b 
(c)  Tw - 9 (d) 
 

(18) Treatment point for Pulmonary valve is - 
(a) H – 1    (b) H - 9   
(c) H – 2     (d) None  

 
(a) H - 1     (b) H - 9   
(c) H – 2     (d) 
 

(19) Frozen shoulder will be treated by - 
(a)  JD - 2    (b) JD - 1    
(c) JD - 3    (d) None  

 
(a)  JD - 2    (b) JD - 1   
(c) JD - 3   (d) 
 

(20) Pacemaker point is - 
(a) H - 1     (b) H – 6a   
(c) H – 2     (d) None  

 
(a)  H - 1     (b) H – 6a   
(c) H - 2     (d) 
 

(21) Palpitation with weak pulse will be treated by - 
(a)  H - 1     (b) H - 2   
(c) H – 7     (d) None  

 
(a) H - 1     (b) H - 2    
(c) H – 7  (d)  

(22) Brain tumour will be treated by - 
(a) OR – 3    (b) OR - 1   
(c) OR - 2    (d) None  

 
(a)  OR – 3    (b) OR - 1  
(c) OR - 2    (d) 



 
 
 

(23) Treatment point of Cervical vertebra is - 
(a)  Si – 1    (b) Si - 2   
(c) Si – 6    (d) None  

 
(a) Si – 1    (b) Si - 2
(c) Si – 6 (d) 
 

(24) External ear will be treated by - 
(a)  Si - 4    (b) Si - 2   
(c) Si - 19    (d) None  

 
(a)  Si - 4    (b) Si - 2   
(c) Si - 19    (d) 
 

(25) Deep Lymphatic System will be treated by - 
(a)  OR Meridian   (b) SK Meridian   
(c) Fat Meridian   (d) None  

 
(a)  OR    (b) SK    
(c) Fat    (d) 

(26) Fatty liver will be treated by - 
(a)  Fat D - 2    (b) Fat D - 3   
(c) Fat D - 1    (d) None  

 
(a) Fat D - 2    (b) Fat D - 3
(c) Fat D - 1     (d) 

(27) Colitis will be treated by - 
(a) Li – 1c    (b) Li - 5   
(c) Li – 6    (d) None  

 
(a) Li – 1c    (b) Li - 5   
(c) Li – 6 (d) 

(28) Palatine tonsil will be treated by - 
(a)  Li – 1    (b) Li – 9   
(c) Li – 10    (d) None  
Palatine tonsil  
(a) Li – 1    (b) Li – 9   
(c) Li – 10 (d) 
 



 
(29) Treatment point for Thyroid gland is  - 

(a) Tw - 7    (b) Tw - 9    
(c) Tw - 2    (d) None  

 
(a)  Tw - 7    (b) Tw - 9   
(c) Tw - 2    (d)  

(30) Organ Source point of Spleen is - 
(a)  Sp - 8    (b) Sp - 3  
(c) Sp - 9    (d) None  

Organ Source  
(a)  Sp - 8    (b) Sp - 3  
(c) Sp - 9 (d)  
 

(31) Total point of JD Meridian is - 
(a) 7      (b) 19  
(c) 20      (d) None.  
JD  
(a)  7      (b) 19   
(c) 20     (d) 
 

(32) Alarm point For Circulation Meridian is – 
(a) Ci - 9     (b) Ci - 1    
(c) Ci - 10    (d) None.  

 
(a) Ci - 9     (b) Ci - 1   
(c) Ci - 10    (d) 

 
(33) Treatment point for Obesity is - 

(a) Pn - 1    (b) Pn - 2   
(c) Pn - 4    (d) None  

 
(a)  Pn - 1    (b) Pn - 2    
(c) Pn - 4 (d) 
 

(34) Allergies of genital organ will be treated by - 
(a) AD - 1    (b) AD - 3    
(c) AD - 2    (d) None  

 
(a)  AD - 1    (b) AD - 3    
(c) AD - 2    (d) 
 



 
(35) Alarm point for Spleen is - 

(a) Sp – 5    (b) Sp – 21   
(c) Sp – 8    (d) None  

 
(a) Sp – 5    (b) Sp –21   
(c) Sp – 8 (d) 

(36) Treatment point for Diabetes is - 
(a)  Pn - 8    (b) Pn - 9  
(c)  Pn - 3     (d) None  

 
(a) Pn - 8    (b) Pn - 9  
(c)  Pn - 3    (d) 
 

(37) Scars of skin will be treated by - 
(a) SK Meridian   (b) ND Meridian   
(c) OR Meridian   (d) None  

 
(a)  SK    (b) ND    
(c) OR    (d) 
 

(38) Treatment point to stop bleeding in any internal organ of the body - 
(a) Sp - 8    (b) Sp - 6   
(c) Sp - 9    (d) None  

 
(a)  Sp - 8    (b) Sp - 6 
(c) Sp - 9    (d) 
 

(39) Good point for headache is - 
(a) Liv – 8    (b) Liv – 9  
(c) Liv – 2    (d) None 

 
(a) Liv – 8    (b) Liv – 9   
(c) Liv – 2    (d) 

(40) Optic nerve will be treated by - 
(a) ND - 4    (b) ND - 1   
(c) ND - 2    (d) None  
Optic nerve  
(a) ND - 4    (b) ND - 1     
(c)  ND - 2     (d)  



  
(41) Wake and sleep mechanism will be treated by - 

(a) Tw - 7    (b) Tw - 8   
(c) Tw - 20    (d) None  

 
(a)  Tw - 7    (b) Tw - 8   
(c) Tw - 20    (d) 
 

(42) Knee pain will be treated by – 
(a) St  - 35     (b) St  - 4   
(c) St  - 5    (d) None.  

 
(a) St  - 35    (b) St  - 4
(c) St  - 5    (d) 
 

(43) Allergic Rhinitis will be treated by - 
(a)  AD – 3    (b) AD – 2   
(c) AD – 1    (d) None  

 
(a)  AD – 3    (b) AD – 2   
(c) AD – 1    (d) 
 

(44) Appendicitis will be treated by - 
(a) Li - 8     (b) Li – 4a   
(c) Li – 9    (d) None  
Appendicitis  
(a) Li - 8    (b) Li – 4a   
(c)  Li - 9    (d) 

(45) Breast node will be treated by - 
(a) St – 17    (b) St – 2  
(c) St – 3    (d) None  

 
(a) St – 17    (b) St – 2   
(c) St – 3 (d) 

(46) OR Meridian is located on - 
(a) Ring finger    (b) Thumb  
(c) Index finger    (d) None  
OR  
(a)     (b)     
(c) (d) 



 
(47) Bone Marrow Influential point is - 

(a) GB - 2    (b) GB - 3   
(c) GB - 39    (d) None  

Influential  
(a) GB - 2    (b) GB - 3  
(c) GB - 39    (d) 

(48) Hemorrhoids will be treated by - 
(a) K – 8     (b) K – 9  
(c) K – 6     (d) None  

 
(a) K – 8    (b) K – 9  
(c)  K – 6    (d) 
 

(49) Cervical Spondylitis will be treated by - 
(a) ND – 2    (b) ND – 1   
(c) ND – 3    (d) None  

 
(a) ND – 2    (b) ND – 1    
(c) ND – 3    (d) 

(50) Back Shu  point of Lungs is - 
(a) UB - 3    (b) UB - 13   
(c) UB – 4    (d) None  

 
(a) UB - 3    (b) UB - 13  
(c)  UB - 4    (d)  

   ……….. 



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 
49/24-A, MINTO ROAD, PRAYAGRAJ. 

        SESSION JULY – DECEMBER 2023  

ASPEUS CORRESPONDENCE COURSE - SEM – 3 (ADAHS-I) 

       AYURVEDIC ACUPRESSURE (AA-3) 

TIME – 1.30 HRS       MAX MARKS-100 

      (ONLINE EXAM) 

     Objective Questions ( ) 

Attempt each questions:      50x2=100 

(1) Mega Meridian is plotted on - 
(a)  Finger    (b) Elbow    
(c) Wrist     (d) None 

(a)      (b)   
(c)   (d) 
 

(2) 014↑239↓ protocol is used for - 
(a)  Tumour    (b) Itching   
(c) Stone    (d) None 
014↑239↓   
(a)      (b)  
(c)    (d) 

(3)  Colour therapy treatment of protocol 5↓6↑ will be - 
(a)  Orange     (b) Red     
(c) Green    (d) None  
5↓6↑   
(a)      (b)     
(c)     (d) 
 
 
 
 



(4)  Which element is plotted in Rt MF - 
(a)  Disha    (b) Kaal    
(c) Man     (d) None 

  
(a)      (b)    
(c)     (d) 

(5) How many types of Doshas are - 
(a)  4      (b) 3    
(c) 2     (d) None  

  

(a)  4      (b) 3    
(c) 2 (d) 

 
(6) Shani grah is related to which element - 

(a)  Disha    (b) Agni      
(c) Jal     (d) None 

 
(a)     (b) 

(c)    (d) 

(7) Which protocol is used for treatment of infection - 
(a)  0↑9↓     (b) 3↓4↑  
(c) 1↑2↓     (d) None  

  
(a)  0↑9↓     (b) 3↓4↑  
(c) 1↑2↓    (d) 

 
(8) Protocol 3↓4↑ will be treated by which colour - 

(a) Yellow    (b) Pink    
(c) Green    (d) None 
3↓4↑   

(a)    (b)   

(c)  (d)  
 



(9) Pitta is the combination of which elements - 
(a)  Aakash + Vayu   (b) Agni + Jal  
(c) Jal + Prithvi   (d) None 

  
(a)  +    (b) +   

(c) +    (d)  

 
(10) Liver and Kidney organs are plotted in which finger - 

(a)  F.No. 3/4    (b) F.No. 1/2   
(c) F.No. 5/6    (d) None 

  

(a) 3/4   (b)  1/2    

(c)  5/6 (d) 

(11) Body hole mouth is plotted on - 
(a)  Rt MF P jt    (b) Lt RF V jt  
(c) Lt MF P jt    (d) None 

 
(a)  Rt MF P jt    (b) Lt RF V jt  
(c) Lt MF P jt    (d) 
 

(12) Temporal brain is plotted on - 
(a)  Both IF    (b) Both RF    
(c) Both MF    (d) None  

 
(a)     (b)   
(c) (d) 
 

(13) Lt RF- 5/6 LHM- 36↓24↑ protocol is used for - 
(a)  ESR     (b) Itching   
(c) Constipation   (d) None  
Lt RF- 5/6 LHM- 36↓24↑  
(a) ESR     (b)    
(c)   (d) 
 
 



(14) Colour therapy treatment for protocol 7↓8↑ will be - 
(a)  Red     (b) Orange   
(c) Pink     (d) None  
7↓8↑ 
(a)    (b)    
(c)   (d) 
 

(15) Sadhak is a type of - 
(a)  Kapha dosh   (b) Pitta dosh   
(c) Vaat dosh    (d) None  

 
(a)    (b) 
(c) (d) 
 

(16) H/Si organs are plotted in - 
(a)  Lt Small finger   (b) Lt Ring finger   
(c) Lt Middle finger   (d) None  

 
(a) (b)  
(c)  (d) 
 

(17) Body hole “both ears” are plotted on - 
(a)  Both IF - P jts   (b) Both MF - P jts   
(c) Both SF - P jts   (d) None   

 
(a) Both IF - P jts    (b) Both MF - P jts    
(c)  Both SF - P jts (d)  

 
(18) Malas “Bile” is related to which tissue? 

(a) Plasma    (b) Blood   
(c) Bone      (d) None  

 
(a)      (b)   
(c)  (d) 



 
 

(19) Treatment protocol for T.B. is - 
(a)  036↑459↓    (b) 014↑239↓    
(c) 245↑37↓    (d) None  

 
(a)  036↑459↓    (b) 014↑239↓    
(c) 245↑37↓ (d)  
 

(20) Tonification colour of Aakash element is - 
(a) Green    (b) Violet 
(c) Indigo    (d) None  

 
(a)       (b)   
(c) (d) 

(21) Bodhak is a type of - 
(a)  Vaat dosh    (b) Pitta dosh   
(c)  Kapha dosh   (d) None  

 
(a)     (b)     
(c) (d)  

(22) Bone and Bone marrow tissues are placed on - 
(a) Both RF-P jts   (b) Both SF-P jts  
(c) Both MF-P jts   (d) None  

 
(a)  Both RF-P jts   (b) Both SF-P jts  
(c) Both MF-P jts (d) 
 

(23) Body hole eyes are plotted on - 
(a)  Both RF-P jts   (b) Both IF-P jts   
(c) Both MF-K jts   (d) None  

 
(a) Both RF-P jts   (b) Both IF-P jts
(c)  Both MF-K jts (d) 
 
 



 
 

(24) “Cerebellum organ” is plotted on - 
(a)  Lt RF-K jts    (b) Lt SF-K jts    
(c) Lt MF-K jts    (d) None  

 
(a)  Lt RF-K jts    (b) Lt SF-K jts 
(c) Lt MF-K jts    (d)  

 
(25) Treatment of spine disease will be on - 

(a)  Lt RF    (b) Rt IF   
(c) Lt SF     (d) None  

 
(a)     (b)   
(c)   (d) 
 

(26) Sedation colour of Prithvi element is - 
(a)  Pink     (b) Green   
(c) Orange    (d) None  

 
(a)   (b) 
(c) (d) 

(27) Vaat dosh is the combination of - 
(a) Agni + Jal    (b) Aakash + Vayu   
(c) Jal + Prithvi   (d) None   

 
(a) +    (b) + 
(c)  + (d) 

 
(28) Blood/Plasma tissues are plotted on - 

(a)  Both IF- P jts   (b) Both MF- P jts   
(c) Both RF- P jts    (d) None  

 
(a) Both IF- P jts   (b) Both MF- P jts   
(c)  Both RF- P jts  (d) 
 
 



 
 

(29) Body hole “Nose” is plotted on - 
(a) Both IF- P jts   (b) Both MF- P jts  
(c) Both RF- P jts   (d) None  

 
(a) Both IF- P jts   (b) Both MF- P jts  
(c)  Both RF- P jts  (d)  

(30) Parietal lobe is plotted on - 
(a)  RF     (b) MF   
(c) SF     (d) None.  

 
(a) (b)  
(c)     (d) 
 

(31) LMM-7/8 Branch (opp.flow)-036↑459↓ is treatment for - 
(a) Coughing    (b) Hand pain    
(c) Leg pain    (d) None  
LMM-7/8 Branch (opp.flow)-036↑459↓  
(a)     (b)  
(c)  (d) 
 

(32) Sedation colour of “Disha element” is – 
(a) Red     (b) Yellow   
(c) Pink     (d) None  

 
(a)      (b)  

(c)      (d) 

 
(33) Which disease is related to Kapha dosh - 

(a) Acidity    (b) Fibroid  
(c) High Blood pressure  (d) None  

 
(a)      (b)    
(c)   (d) 
 



 
 

(34) Reproductive organs are plotted on - 
(a) Rt Thumb-V jt   (b) Rt RF-V jt   
(c) Lt IF-P jt    (d) None  

 
(a) Rt Thumb-V jt   (b) Rt RF-V jt    
(c)  Lt IF-P jt   (d) 
 

(35) Thyroid and Parathyroid glands are plotted on - 
(a) Both IF - P jts   (b) Both MF - P jts   
(c) Both RF - P jts   (d) None  

 
(a) Both IF - P jts   (b) Both MF - P jts 
(c)  Both RF - P jts  (d) 

(36) Stomach organ is plotted on - 
(a) Rt RF- V jt    (b) Rt SF- V jt   
(c) Rt MF- K jt    (d) None  

(a) Rt RF- V jt    (b) Rt SF- V jt    
(c) Rt MF- K jt    (d) 

(37) Which will be the tonification colour of Agni element - 
(a) Yellow    (b) Blue     
(c) Pink     (d) None  

 
(a)       (b)     
(c)    (d)  

 
(38) “Teeth” is the updhatu of - 

(a) Blood tissue   (b) Plasma tissue    
(c) Bone tissue   (d) None  

 
(a)    (b)     
(c)     (d) 
 



 
 

(39) Which number is related to Tam element - 
(a) 1     (b) 0  
(c) 2     (d) None  

 
(a) 1     (b) 0  
(c) 2     (d) 

(40) UB/GB organs are plotted on - 
(a) Both IF V jts   (b) Both SF V jts   
(c) Both MF P jts   (d) None  

 
(a) Both IF V jts   (b) Both SF V jts   
(c) Both MF P jts   (d) 
  

(41) Which gland is plotted on Rt MF- P jt - 
(a) Pituitary    (b) Pineal    
(c) Adrenal    (d) None  
Rt MF- P jt  
(a)      (b)    
(c)    (d) 
 

(42) Limbic system is plotted on – 
(a) Rt MF- K jt    (b) Rt IF- K jt   
(c) Rt RF- K jt    (d) None  

 
(a) Rt MF- K jt    (b) Rt IF- K jt   
(c) Rt RF- K jt   (d)  
 

(43) Left Hemisphere of the brain will be treated on - 
(a) RMM    (b) LRMM   
(c) LMM     (d) None  

 
(a) RMM    (b) LRMM   
(c) LMM  (d) 
 



 
(44) Head hair are the updhatu of which tissue - 

(a) Plasma    (b) Bone marrow   
(c) Blood    (d) None  

 
(a)       (b)   
(c)     (d) 
 

(45) Frontal brain is plotted in - 
(a) Both MF    (b) Both RF    
(c) Both IF    (d) None  

 
(a)    (b)    
(c)  (d) 

(46) Medulla organ is plotted on - 
(a) Lt RF - K jt    (b) Lt SF - V jt   
(c) Lt MF – P jt   (d) None  

 
(a) Lt RF - K jt    (b) Lt SF - V jt  
(c) Lt MF – P jt (d)  
 

(47) Treatment of “Grah” will be on - 
(a) Left Hand    (b) Right Hand   
(c) Both hands   (d) None  

 
(a)      (b)  
(c)    (d) 

(48) Pancreas gland is plotted on - 
(a) Lt SF - P jt    (b) Lt MF - P jt   
(c) Lt IF - P jt    (d) None  

 
(a) Lt SF -  P jt   (b) Lt MF - P jt   
(c)  Lt IF - P jt    (d) 
 
 



 
(49) Treatment of Spine will be on - 

(a) RMM    (b) LMM   
(c) Both     (d) None  

 
(a)  RMM    (b) LMM    
(c)      (d)  

(50) Which organ is plotted on Lt MF – V jt - 
(a) Liver     (b) Heart  
(c) Pons     (d) None  
Lt MF – V jt  
(a)     (b)   
(c)      (d)  
   …………  

 

 


